o
[N

<3 @> (rad)
<)
o [
)

-3 -2 -1 0 1 2 3

TP n (PCA to beamline

)

< d cot(8) >

......................

..........................

..........................

=3 -2 -1

0 1 2 3

TP n (PCA to beamline)

DQM_TT__original

..............................

..............................

..............................

0 1 2
TP n (PCA to beamline

3
)

<op/p. > (%)
o =

|
=

Ratio
o

0.95

0.

1©

0 1 2

3

TP n (PCA to beamline)

e S
..... D S S S
e S
T S
-------
oo e e
0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


